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MeETRIC ConuERSTINS
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1043 m= 04043

units, the following carversion s used:

19320m’ = 498 m

- Complete the fallowlng conversions:

e 3dem= 340 mm

L1e8mm=__ 0 /6y  m

- Complete the following conversions:

g 42dam=__42000 mm
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MorE Metric Conusnsrrng

‘Complete ths following scnverslon tain:
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Complate the fellowing conversions:

1. 11238 g 0.0l28%
5. coomaeis 345 o
5 7.95my= 0,0‘0"745’ g
7oecteom=_0.0998F9
9. 35em= _ﬁiﬁ_ﬁ-_,_ m

11, 0.000000012kg = _ 0, /L g

18, 1.002m = VC". oGO0 - wm
16. 115834 ms= .00/ 5624 s
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16, 1000 hg = -[QQL“?
18, C005kn= _ 4500 nm
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24470955k = 47595500 dgag



